1 (ap Write 40 : 2000 a5 & ratio in s simplest form.
1 [ [
(b) Diwide 350 in the ratio 1: 6
[ [2]
(c) Find 20% of 450
= [

Same as Q1
on draft spec

2 Wrie these in order, smallest first.

034 3.5%

] —

Same as Q2

on draft spec




3 Enlhdﬁi:sgufalih'aﬁmikaamdny.

Milk costs 89p for a 2 litre caron and 48p for a 1 #re cafon.

‘What s the smallest amount that Colin would have o spand to buy milk for one wesk?
Show your working .

Same as Q3
on draft spec e .

4 A spinner is shown bedow
Each section on the spinner is the same size.

2R &

{a} Write 3 rumber o make esch sentence true.

(i} ttis ewens that the spinner will land onnumbser . [11
{ii} There is probability of é thiat the spirmer will land on numbsr .. [
{iii} Itis impossible that the spinnerwill land on number . [11

(b} The spinner balow has the following properties.

*  There are eight equal sections, each showing one number

= Thera are three different numbers on the spirmer

*  The probability of the spinner landing on an even number is greater than the probebiity
of it landing on an cdd number

* [ is more liksly that the spinnerwill land on a & than either of the other rumbers.

‘Write a possible set of numbers on the spnner.

o
/\ \ | Same as Q4

\\/ on draft spec
T

[3]




§ Ashape is made from three congruent nght-angled triangles, a5 shown in the disgram.

Notto scale

Find the total area of the shaps.

) NEW

....................... cm® [3]
6 Hereis a'Vienn disgram.
=
Do E&\
30 smudents are esked if they have a dog or cat
= 21 have a dog
* 16 heve a cat
* B have a dog. but do not heve a cat.
[3]

Complete the Venn diagram.

Same as Q6
on draft spec




7 (&} Write numbers in the boxes below to make the statement thus.

15 M=5mx =1 3%

[21

(bj Fm thinking of a number.
i | cube that number and then add 9, | gst 17.

‘What number am | thinking of?

NEW —

8 The dizgram shows = mangle.

Mot to scale

/3
Find the value of x . Same aS Q9

Give & reason for each step of your working.

on draft spec




#  The pictogram shows how some passengsrs spent most of their time on a Night.

Reading

Watching films D
Listening to music

Playing games H

Cither

ey

(a) How many passengers spent most of their time playing games?

rapresants 40 people

(¢} Therewsra 360 passengers on the plane akogsther,

‘Work cut how many spent most of their Sme listening 1o music and represent this number on

Same as Q8
on draft spec

— 1

11

the pictogram. [
10 (g} Inserione of the symbols <, » or = to make each statement true.
] = — LT [
fiiy 008 0.8 [
(T - — 12 [1]
{b) Work out the valus of 52 . 10F.
Same as Q10 O .

on draft spec




11 Show that 4{a + 3) - 38 - 2)=a + 18.

[z

NEW

12 Here ars tha first three pattams in & sequence.

(a) Dvaw Pattern 4 in this sequence on the grid below.

{b) Patiemn 3 has 9 dotied squares and 12 bleck squarss.

How marny dotted squares will thers be in Patem B?

1)

Same as Q12
on draft spec

ic) Write an expression for the number of black squares in the nth pattern.

id) Saly looks &t the pattems.
She says

If the pattern rumber is odd, the total number of squares will be odd.
If it is even, the total number of squares will be even

Explain clearty why Sally is right for all pattems in the sequenca.

&1




13 (&) (i) Skeich a graph on the axes below that shows that y is directly proportional 1ox.

{ii) Sketch a graph on the axes below that shows y= x°.

(b} Ris possible to draw many rectanghes which have area 24 o’
Here ara two of them

1Zem

Notto scale o

For a rectangle of fixed area the length (L} & inversely proportional to the width (W),

Plot a graph to show this relationship for rectangles with area 24 cm®.

28

24

&

Lengin {L)

12

Same as Q13 4
on draft spec L R i e T

Wil (W)
[4]




14 Thewvalua of & car £V is given by the equation
V= 20000 0.9'

where t is the age of the car in compleis years.

(a)} Write down the value of the carwhen new.

(b} Whatis the value of the car when it is 3 years old?

(¢} Afier how manmy complete years will the car's value drop below £10 0007

Same as Q14
on draft spec




15 Kleran, Jermaine and Chris play foothel.
Kieran has scored 8 more goals than Chris.
Jermaine has scored 5 more goals than Kieran.
Aliogether they have scored 72 goals.

How many goels did they each score?

Same as Q15

on draft spec




18 Oitis keeps bees in wo bashives.
They are marked A and B in the scale drewing below.

Scale: 1 cm represents 50 metres

Based on Q16 on draft
spec previous (a) was

T “what is the actual distance from
beehive A to beehive B?”

(a} M Cdiswalks at about 2 ms, estimate how long it tekes him towalk from beehive A to beshive B.

(b} Bees doa “weggle dance’ o indicate to other bees whera fiowers are.

A bee indicates that there are flowers

* on & beanng of 055 from beshive A
and

* @ta disance of £00m from beshive A.

On the scale disgram, show the paint whers the flowsrs are.
Leabel the point F. 21

g} Otis decides to plant some fruit rees

» the same distance from beshive A and beshive B
= 200m or kess from each hive.

Indicate on the scale disgram where Ciis could plant the irees.
You mast show all your construction Bnes. 41




17 5 equations are shown below, each labelled with a letter,

A B c

- Bx x=1 _ 3
¥= =g .'I"-?
K] E F

[ 2
I:F y=6x _'p':;fE

Choose the comect ketiers io make each statement trus.
(a) Egquation ... and equation _......_.... - &re equivalant [11

(b} Egquation ... and equation _....._.... - show that x is inversely proportional to . [2]

Same as Q17
on draft spec

18 Jo went for 3 bike ride one evening.
She trevelled x kilomeires in 5 hours.

Show that her average speed can be writlen &s ;E m's. [4]

Same as Q18
on draft spec




18 Peter makes & larpe amount of pink paint by mixing red and white paint in the ratio 2 - 3.

Red paint costs £40 per 5 lires.
‘White paint costs £5 per 10 lifres.

Peter sells his pink paint in 10-ire tins for £60 per on.

Calculsie how much profit he makes for each tin he selis.

NEW

20 The disgram shows & right-angled trangle.

Hot to scale

4 a@m

Calculate x .

Same as Q20
on draft spec

......................... . om [3]




18

2 Lowise travels io 8 mesting by trein

She catches & train i the moming to the meeting and then a train home in e evening.

The probability that the moming train is late s 0.7.
The probability that the svening train is late i 0.4,

What & the probabdty thet at least one of the trains she catches is late?

Same as Q21
on draft spec




THE FOLLOWING HAVE BEEN REMOVED:

5 (a) Multiply out.
3(2x + 5)
{8) [11
(b) Factorise.
3x+9
L [11
(e} Simplify.
5¢-Td- 2c +3d
€) co [2]
T Work out.
(@) #*+3°
(2 (2
3 2
®gvs
() [
11 (a) Calculate.
7.801
0.732 +1.277
Give your answer correct to 2 decimal places.
[ ) S — |
(b} Without using a calculator, use suitable approximations to check your answer to part (a).
Show your working. 2]




19 Triangle A is shown on the grid.

Enlarge triangle A by scale factor jz'- centre X.
Label the image B.




